A. Beghi L. Finesso G. Picci editors

Mathematical Theory of Networks and Systems

Proceedings of the MTNS-98 Symposium held in Padova, Italy July, 1998

Nonlinear Asymptotic Observer Design, A Backstepping Approach

Wei Kang *
Department of Mathematics
Naval Postgraduate School
Monterey, CA 93943, U.S.A.
wkang@math.nps.navy.mil

Arthur J. Krener

Department of Mathematics
University of California
Davis, CA 95616. U.S.A.
ajkrener@ucdavis.edu

Keywords: Noninear Observer, backstepping.

Abstract

Nonlinear observer design based on backstepping method is introduced in this paper. The method is applicable to any nonlinear smooth systems. The observer asymptotically approaches to any given bounded trajectory in the observable set of the original system, provided that the initial estimation is not too far from the actual state value.

1 Introduction

rms the dif-

.tiv-

IOUS

ned ex-

'rof.

ding

pful

via

.053-

ation

The

991.

 $\quad \text{and} \quad$

rms.

rage

Lett.,

:ms:

sys-

· re-

heory

AC-

aratic

This paper addresses a simple and efficient method of observer design for general nonlinear dynamical systems. It is known that, if a nonlinear system admits an observer normal form under change of coordinates and output injection, observers can be designed using linear observer theory (see [3], [4], [2] and references therein). Another existing approach uses high gain design for the observation of general nonlinear dynamical systems ([1]).

In this paper, a different approach based on backstepping is introduced. It does not require any extra assumption for the system, except smoothness and observability. So, the method is applicable to general systems whose error dynamics are not necessarily linearizable. Furthermore, it is not high gain design. The size of the observer gain at a given point depends on the partial derivatives of the vector fields at the same point. A formula of the observer gain is derived. The gain is a function of the state of the observer. The function can be derived off-line through an iterative algorithm.

The paper is organized as follows. In § 2, a two dimensional example is given to illustrate the fundamental idea of backstepping in observer design. The method used in this section is generalized to arbitrary system in observable form in § 3. In § 4, the derivation in section 3 is summarized as an iterative algorithm for the calculation of the observer gain.

2 An incentive example

In the following example, a nonlinear asymptotic observer is designed for a two dimensional system in observable form. Consider

$$y = x_1$$

 $\dot{x}_1 = x_2$
 $\dot{x}_2 = \phi(x_1, x_2)$ (1)

Given a bounded trajectory of (1), the problem is to find an asymptotic observer to track the states of (1) based on the measurement of y(t). The observer has the following form

$$\dot{\bar{x}}_1 = \bar{x}_2 + g_1(\bar{x}_j(\bar{x}_1 - x_1)
\dot{\bar{x}}_2 = \phi(\bar{x}_1, \bar{x}_2) + g_2(\bar{x})(\bar{x}_1 - x_1)$$
(2)

The variable \bar{x} is an estimation of x. Define the error by $e = \bar{x} - x$. The goal of this paper is to develop a method of finding g_1 and g_2 so that $\lim_{t \to \infty} e(t) = 0$. The error dynamics is

$$\begin{aligned}
\dot{e}_1 &= e_2 + g_1(\bar{x})e_1 \\
\dot{e}_2 &= \phi(\bar{x}) - \phi(x) + g_2(\bar{x})e_1
\end{aligned} (3)$$

Notice that the error equation is dependent on both e and \bar{x} . Since

$$\bar{x}(t) = x(t) + e(t). \tag{4}$$

(3) can be treated as a time variant system of ϵ for a given trajectory x(t). In the following, we derive a Lyapunov function for the system. Then, the observer gain g_1 and g_2 are derived from the Lyapunov function.

Let
$$z_1 = e_1$$
, and let $V_1 = \frac{1}{2}z_1^2$. Then $V_1 = -e_1z_1^2 + z_1z_2$, where $z_2 = e_1e_1 + e_2 - e_1$, $\mathbb{R}[e_1]$. Define $V_2 = \frac{1}{2}z_1^2 + \frac{1}{2}z_2^2$. We have

$$\begin{array}{lll} \dot{V}_2 &=& -c_1z_1^2 + c_1z_1^2 + z_2 \cdot c_2z_2 + z_1 + \phi(x) - \phi(x) \\ &+ g_2(\bar{x})e_1 + \cdots e_1 + c_1g_1(x)e_1 \\ &+ \dot{g}_1(\bar{x})e_1 + g_1(\bar{z})e_2 + (g_1(\bar{x}))^2e_1! \end{array}$$

Define
$$\phi_1(x) = \frac{\partial \phi}{\partial x}(x_1 - z_1 | x) + \frac{\partial \phi}{\partial x}(x_2)$$
, then

$$\phi(\bar{x}) - \phi(x) = \varepsilon_1 + \varepsilon_2 + O_x(c)^2$$
 (6)

^{*}Research supported in part by AFOSR-49620-95-1-0409.

where $O_x(e)^2$ is a function of (x,e) such that $\frac{O_x(e)^2}{\|e\|^2}$ is not large. In other words, the gains render the following error dynamics asymptotically stable. Define $e = \bar{r} - r$ bounded for (x, e) in a neighborhood of (0,0). Substitutthe error dynamics are ing (6) and the definition of z_1 , z_2 into (5), we have

$$\dot{V}_2 = -c_1 z_1^2 - c_2 z_2^2 + z_2 ((g_2(\tilde{x}) + 1 + c_1 c_2 + c_2 g_1(\tilde{x}) + \phi_1(x) + c_1 g_1(\tilde{x}) + \dot{g}_1(\tilde{x}) + (g_1(\tilde{x}))^2) e_1 + (c_1 + c_2 + \phi_2(x) + g_1(\tilde{x})) e_2).$$

To make (7) negative definite, we assume

$$\begin{array}{lcl} g_1(\bar{x}) & = & -(c_1+c_2+\phi_2(\bar{x})) \\ g_2(\bar{x}) & = & -(1+c_1c_2+c_2g_1(\bar{x})+\phi_1(\bar{x})+c_1g_1(\bar{x}) \\ & +\dot{g}_1(\bar{x})+(g_1(\bar{x}))^2) \end{array}$$

Notice that $g_1(\bar{x})$ and $g_2(\bar{x})$ can not cancel the term $\phi_2(x)$ and $\phi_1(x)$. However, the function defined in (8) can cancel undesired quadratic terms. From (6), it is easy to show that

$$\begin{array}{l} (c_1+c_2+\phi_2(x)+g_1(\bar{x}))=O_x(e) \\ g_2(\bar{x})+1+c_1c_2+c_2g_1(\bar{x})+\phi_1(x)+c_1g_1(\bar{x})+\dot{g}_1(\bar{x})+\\ (g_1(\bar{x}))^2=O_x(e) \end{array}$$

$$\dot{V}_2 = -c_1 z_1^2 - c_2 z_2^2 + O_x(e)^3. \tag{9}$$

Suppose that x(t), the trajectory of (1), is bounded Then, \dot{V}_2 is locally negative definite.

This implies that the error dynamics (3) is locally asymptotically

stable. Or equivalently, there exists a $\delta > 0$ so that $\lim e(t) = 0 \text{ if } ||e(0)|| < \delta.$

The observer (2)-(8) is global in the sense that it can track any bounded trajectory of (1). However, the initial estimation $\bar{x}(0)$ can not be arbitrary. It is required that $\|e(0)\| < \delta$ for some $\delta > 0$. This is because that the error dynamics (3) is not necessarily globally asymptotically stable.

3 Observer design for systems in observable form

In this section, observers are designed for the following system in observable form.

$$\dot{x}_i = x_{i+1}, \quad for \quad 1 \le i \le n-1,
\dot{x}_n = \dot{\phi}(x)$$
(1)

System (1) is a special case of (1) for n = 2. In this section, general backstepping approach is introduced. A family of asymptotic nonlinear observers are derived for systems in the form of (1).

The observer is in the following form

$$\dot{\bar{x}}_i = \bar{x}_{i+1} + g_i(\bar{x})(\bar{x}_1 - x_1), \quad for \ 1 \le i \le n - 1,
\dot{\bar{x}}_n = \phi(\bar{x}) + g_n(\bar{x})(\bar{x}_1 - x_1)$$
(2)

The problem of observer design is to find the gains $g_i(\bar{x})$, $1 \le i \le n$, so that $\lim_{t \to \infty} \bar{x}(t) - x(t) = 0$ if $\|\bar{x}(0) - x(0)\|$ is error dynamics asymptotically stable. Define $e = \bar{x} - x$.

$$\begin{array}{ll}
\dot{e}_i = e_{i+1} + g_i(\bar{x})e_1, & for \ 1 \le i \le n-1, \\
\dot{e}_n = o(\bar{x}) - \phi(x) + g_n(\bar{x})e_1
\end{array} \tag{3}$$

For a fixed trajectory x(t) of (1), (3) can be considered as a time-variant nonlinear dynamical system of e because $\bar{x}(t) = e(t) + x(t)$. The fact that x(t) is unknown makes the problem of observer design for nonlinear system difficult because the coefficients in the nonlinear functions of the error dynamics is time variant and they are not measurable. This is a fundamental difference between linear and nonlinear design. On the other

hand, the trianglular structure in all the systems (1). (2) and (3) suggests that backstepping method of finding a Lyapunov function might work for error dynamics. Let's introduce some notations used in the main theorem of this section.

Given any function $\alpha(x,\bar{x},e)$, the operator D transforms a into a

function by taking directional derivatives, i.e.,

$$D(\alpha(x,\bar{x},e)) = \sum_{i=1}^{n-1} \frac{\partial \alpha}{\partial x_i} x_{i+1} + \frac{\partial \alpha}{\partial x_n} \phi(x)$$

$$+ \sum_{i=1}^{n-1} \frac{\partial \alpha}{\partial \bar{x}_i} (\bar{x}_{i+1} + g_i(\bar{x})(\bar{x}_1 - x_1))$$

$$+ \frac{\partial \alpha}{\partial \bar{x}_n} (\phi(\bar{x}) + g_n(\bar{x})(\bar{x}_1 - x_1))$$

$$- \sum_{i=1}^{n-1} \frac{\partial \alpha}{\partial e_i} (e_{i+1} - g_i(\bar{x})(e_1))$$

$$- \frac{\partial \alpha}{\partial e_n} (\phi(\bar{x}) - \phi(x) + g_n(\bar{x})(e_1))$$
definition of Lympus $e_n(\bar{x}) = 0$

In the definition of Lyapunov function, the variable : will be used, which is defined by the following iterative formulae

$$\begin{split} &z_1 = \epsilon_1 \\ &z_2 = \epsilon_1 z_1 + D z_1 \\ &z_k = \epsilon_{k-1} z_{k-1} + D z_{k-1} + z_{k-2}, \quad for \ \ 3 \leq k \leq n \end{split}$$

This function will be used to determine the observer gard in Theorem 1. The Lyapunove function is defined by

$$V = \frac{1}{2}(z_1^2 + z_2^2 + \dots + z_n^2)$$

In (5), z is presents a mapping from $(x,x,\epsilon)\in \mathbb{R}^r \times \mathbb{R}^r$ $I\!\!R^n$ to $I\!\!R$. It $\bar{x}(t)$ is substituted by $x(t)+\epsilon(t),$ the Lyupunov function (6) is a time-variant function. However in the derivation of the formulae of z_i , we treat x_i , \bar{x} and e as independent variables. The purely algebraic derivation avoids higher degree terms of e in the expression of zThis is also the reason why in the definition of $D_{\gamma\beta}$ instead (f) is used in the second summation. For the reason of space, all results in this section are introduced without resof.

ns render the following able. Define $e = \hat{x}$

$$or \ 1 \le i \le n-1. \tag{3}$$

can be considered as al system of c because x(t) is unknown makes nonlinear system diffinonlinear functions of and they are not meafference between linear

in all the systems (1). pping method of findrk for error dynamics. d in the main theorem

the operator D trans-

erivatives, i.e.

$$x)(\bar{x}_1 - x_1))$$

$$(4)$$

 (c_1)

$$J_n(x)(\epsilon_1)$$

tion, the variable ne following iterative

for
$$3 \le k \le n$$

aine the observer gain tion is defined by

 $t, x, e \} \in I\!\!R^n \times I\!\!R^n \times$ Strained Law function However z_t , we treat r_t x and bely algebraic deglerin the expression of number of $D, x_1 - x_4$ and the Part of ation are introduced Lemma 1 The mapping (5) has the triangular structure

$$z_i = a_{i,1}(x,\bar{x})e_1 + a_{i,2}(x,\bar{x})e_2 + \dots + a_{i,i-1}(x,\bar{x})e_{i-1} + e_i$$
(7)
for $1 \le i \le n$. Notice that the coefficient of e_i is 1.

It is easy to check that

$$z_{n+1} = \phi(\bar{x}) - \phi(x) + \sum_{i=1}^{n} a_{n+1i} e_i$$
 (8)

for some coefficients $a_{n+1,j}$, $1\leq j\leq n$. In the following, the coefficients a_{ij} in (7) and (8) are grouped in the following way.

$$G_j = \{a_{j+1,1}, a_{j+2,2}, \cdots, a_{n+1,n-j+1}\}, \quad 0 \le j \le n$$

i.e. G_t consists of all $a_{s,t}$, $1 \le t \le s \le n+1$, so that s-t=j. They represents the off diagonals in the matrix

$$\begin{bmatrix} 1 & 0 & 0 & \cdots & 0 & 0 \\ a_{21} & 1 & 0 & \cdots & 0 & 0 \\ \vdots & \vdots & \vdots & \ddots & \vdots & \ddots & \vdots \\ a_{n1} & a_{n2} & a_{n3} & \cdots & 1 & 0 \\ a_{n+11} & a_{n+12} & a_{n+13} & \cdots & a_{n+1n} & 0 \end{bmatrix}$$

In this matrix, G_0 consists of the diagonal elements (the last entry is zero since no e_{n+1} term in z_{n+1}). The off diagonal line is G_1 , the second off diagonal line is G_2 , etc.

Lemma 2 For any $a_{k+j,j} \in G_k$, $k \ge 1$, it satisfies

$$a_{k+jj} = g_k + h_{k+jj}(x,\bar{x})$$
 (10)

where h_{k+1} is determined by g_1, g_2, \dots, g_{k-1}

Theorem 1 Let $g_1(x), g_2(x), \dots, g_n(\bar{x})$ be functions satisfying

$$g_i(x) + h_{n+1:n+i+1}(\bar{x},\bar{x}) + \phi_{n-i+1}(\bar{x}) = 0$$
 for $1 \le i \le n$. Step 2. (The computation of G_1) For $1 \le j \le n$.

where $\phi_{ij}(x) = \frac{\partial \phi}{\partial x_i}(x)$. For any given bounded trajectory

there exists a neighborhood U of e=0 so that $\epsilon(0)\in U$ implies that $\lim_{t \to \infty} (x(t) - x(0)) = 0$.

4 Iterative algorithm for the calculation

Lemma 3 Suppose that $G_0, G_1, \cdots, G_{k_n}$ are known for some k > 2. Suppose that g_1, g_2, \dots, g_k are known. then are elements of

Ch sutistics

$$a_{k+1,1} = c_k a_{k,1} + i \partial a_{k,1} + a_{k+1,1} + \sum_{i=1}^k a_{k,i} g_i(\hat{x})$$
 (1) $S_{i+1} = -(a_{n+1} a_{k+1}) + Q_{n-k}(x)$. (2) $S_{i+1} = -(a_{n+1} a_{k+1}) + Q_{n-k}(x)$. (1) $S_{i+1} = -(a_{n+1} a_{k+1}) + Q_{n-k}(x)$. (1) $S_{i+1} = -(a_{n+1} a_{k+1}) + Q_{n-k}(x)$.

$$|a_{k+1} - a_{k+1}| + |a_{k+1} - a_{k+1}| + |a_{k+1}| + |a_{k+1}$$

 $for \ 2 : \ J \subseteq n-k+1.$

Notice that in the right sides of (1) and (2), the coefficients a_{k1} , a_{k-11} ,

 $a_{k+j-1,j}$ and $a_{k+j-2,j}$ are all in G_{k-1} or G_{k-2} . The (7) function $a_{k+j-1,j-1}$ is in G_k . The first coefficient $a_{k+1,1}$ can be computed using (1), the equation (2) iteratively determines all the functions in G_k as j increases from 2 to n-k+1.

From Lemma 1, it is known that $a_{ii} = 1$ for i = $1, \dots, n$. It is obvious that $a_{n+1,n+1} = 0$. So

$$G_0 = \{a_{11} = 1, \cdots, a_{nn} = 1, a_{n+1n+1} = 0\}$$
 (3)

The functions in G_1 are given in the following result.

Lemma 4 The functions in G1 satisfies

$$a_{j\,j-1} = c_1 + c_2 + \dots + c_{i-1} + g_1 \tag{4}$$
 for $2 \le j \le n+1$.

From Theorem 1, the function $g_i(\bar{x})$ is determined by $c_1, c_2, \dots, c_n, \phi(x)$ and $h_{n+1,i}(x,\bar{x})$. The coefficients c_1 , c_2, \dots, c_n , are the weights of z_i^2 in V. They can be any set of positive numbers. The function $\phi(x)$ is a known function in the dynamical system. The results in Lemma

4 provides iterative formula for the calculation of $h_{n+1}(x,\bar{x})$. In the following, we summarize all these in an iterative algorithm for the calculation of the observer gain. The notations a_{ij} and h_{ij} are defined in (7). (8) and 10,.

Algorithm

Ster 1 (The computation of $q_1(\bar{x})$) Set k=1

$$g_1(\bar{x}) = -\left(\sum_{i=1}^n c_i + \varphi_n(\tilde{x})\right).$$

$$a_{j+1,j} = \sum_{i=1}^{j} c_i + g_1(\bar{x}).$$

Step 3. (The computation of h_{ij} satisfying i-j=k+1) For j=1.

$$h_{r+1} = c_{k+1} a_{k+1,1} + D a_{k+1,1} + a_{k,1} + \sum_{r=1}^{k} a_{k+1,r} g_r(\bar{x})$$

$$\text{Transform } h.$$

$$\begin{split} h_{k+-+1,j} &= c_{k+j} a_{k+j,j} + D a_{k+j,j} + h_{k+j,j-1} + a_{k+j-1,i}, \\ & \text{Sinj 4. The computation of } g_{k+1}(\hat{x})) \end{split}$$

$$g_{k+1} = -(h_{n+1})_{n-k}(\tilde{x}, \tilde{x}) + \phi_{n-k}(\tilde{x})$$

$$-a_{k+j+1,j} = h_{k+j+1} + g_{k+1}(\bar{x}).$$

(2) State 6. Define k = k + 1 then go to step 3.

5 Conclusion

Nonlinear observers for general dynamical systems are derived based on backstepping method. The formulae for the calculation of the observer gain are given in an algorithm (\S 4). It can be programmed using softwares of symbolic computation such as Maple or Mathematica. The gain function can be derived off-line. The approach in \S 4 is generalized to the case in which the system is not nobservable form. The results will be given in a forthcoming paper. In this paper, the systems have no control input. Observer design for nonlinear control systems is one of the problems in our future research.

References

- J. P. Gauthier, H. Hammouri, and S. Othman, A simple observer for nonlinear systems applications to bioreactors, IEEE Trans, Autom. Contr., AC-37, pp. 875-880, 1992.
- [2] A. Isidori, Nonlinear Control Systems, 3rd edition, Springer, 1995.
- [3] A. J. Krener and A. Isidori, Linearization by output injection and nonlinear observers, Systems and Control Letters 3, pp. 47-52, 1983.
- [4] A. J. Krener and W. Respondek, Nonlinear observers with linearizable error dynamics, SIAM J. Control and Optimization, 23(2), pp. 197-216, 1985.